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PART A: Vocabulary

Directions: Choose the word or phirase (1), {2), (3}, or (4) that best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only believed me after an eyewitness --------— my account of the accident.
1) displaved 2) constituted 3} corroborated 4} suspected

2-  The plan is to our --——-—-—---- advantage; we will all benefit greatly from it.
1) concurrent 2) mutual 3) devoted 4) involved

3-  OQur organization is commiticd o pursning its aims through peacetul ---—-—-- . We totally
reject violence as a means of political change.
1) means 2) insruments 3y devices 4} gadgels

4-  All parents receive a booklet which -—--—---- the school’s aims and objectives before their
children start their first term.
1) ¢clarilics 2} injcels 3} conducts 4} notilics

5-  Increasing the state pension is a ----—------ aim, but I don’t think the country can atford it.
1) redundant 2) diverse 3) flexible 4% laudable

6-  The primary aim in sumo wrestling is to knock your ------—---- right out of the ring!
1) protagonist 2) opponent 3} reteree 4} beneficiary

7-  The cost of the damage caused by the oil - will be around S200 million.
1) spill 2} guill 3} demcril 4) exlent

8- Most of us -—--—----- when we hear that many children spend more time watching TV
than they spend in school. It’s a rather scary thought.
1) withdraw 2) retreat 3) recoil 4} regress

9-  Even though he isn’t enrolled right now, Calvin savs he will go te college ------——-- A
1) creatively 2) delicately 3) sentimentally 4) cventually

10- You should avoid driving during the snowstorm beeause the icy reads are ---—--—-—,
1) supcrlicial 2) [rigid 3} pertlous 4} caulious

PART B: Cloze Test

Dircctions: Read the following passage and decide which cheice (1), (2), (3), or (4) best fits cach
space. Then mark the eorrect choice on your answier sheet,

When it comes to visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) -----—-—----- much with a
contemporary performance picce, but they are both considered arl.
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(12} —-----—— th¢ scemingly indelinable nature of art, there have always existed
certain formal guidelines for its aesthetic judgment and analysis. Formalism 1s a concept
in art theory (13) —----------- an artwork’s artistic valve is determined solely by its form, or
the way (14) ——---———---, Formalism cvalualcs works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context. or
content.
11- 1) share 2) be sharing 3) have shared 4) be shared
12- 1) Although 2) Despite 3) Regardless 4) However
13- 1)that 2) that in it 3) which 4) in which
14- 1) of it made 2) made 3) how it is made 4) it 1s made
15- 1)arc considered  2) considers 3) considering 4) and consider

PART C: Reading Comprehension

Dircetions: Read the following three passages and answer the questions by choosing the

best choice (1}, (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

[nurban planning, a lransit-Oriented  Development (101)) 15 a type of urban
development that maximizes the amount of residential, business and leisure space
within walking distance ol public {ransporl. It promotes a symbiolic rclationship
between dense, compact urban [orm and public transport usc. In doing so, TOD aims
to increase public transport ridership by reducing the use of private cars and by
promoting sustainable urban growth. A 10D typically includes a central transit stop
(such as atrain station, or light rail or bus stop) surrounded by a high-density mixed-
use area, with lower-density areas spreading out from this center. A 'TOD is also
tvpically designed to be more walkable than  other built-up arcas, through using
smaller block sizes and reducing the land arca dedicated 1o automobiles. The densest
areas of & TOD are normally located within a radius of ¥4 to %2 mile (400 to 800 m)
around the central transit stop, as this is considered to be an appropriate scale
for pedestrians, thus solving the last mile problem. Many of the new towns created
after World War Ll in Japan. Sweden, and l'rance have many of the characteristics of
TOD communitics, In a sense, nearly all communitics built on reclaimed Tand in
the Netherlands or as exurban developments in Denmark have had the local equivalent
of TOD principles integrated in their planning, including the promotion of bicycles for
local use. In the United States. a half-mile-radius circle has become the de facto
standard for rail-transit catchment areas for 10Ds. A half mile (800 m) corresponds to
the distance someone can walk in 10 minules at 3 mph (4.8 km/h) and 15 a commeon
gstimale [or the distance people will walk 1o gel 1o a rail station. The hall-mile ring is a
little more than 500 acres (2.0 k1112) in size.
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16- We understand from the passage that --—-——,
1) public transport ridership reduces private car use in both small and large towns
2) sustainable urban growth may not work at all without a 'O in place
3)aTOD is not designed lor an exclusively residential arca
4) there 1s 4 lot of parking spacc lor cars ina TOD
17-  According to the passage, all of the following about a TOH) are correct except that ---—---——-- ;
1) leisure spaces are near public transport in it
2) it might include a train station
3) other built-up areas are less walkable
4) privale cars are rarcly, il ever, used in it
18- The passage points to the fact that --————-—-- :
1) use ol bicyeles [or local use is a leature ol a TOD
2) Sweden had TOD systemns 1n place before World War 11
3) exurban developments are a feature of the Dutch urban landscape
4) the appropriate walking scale for pedestrians is the three-mile radius
19- A TOD’s most populated areas are typically -------—--- its central transit stop.
1) within easy driving distance to 2} a maximum of 800m away from
3) located near its light rail as well as 43 consisted of 300 acres inside
20- The word ‘symbiotic’ in the passage (underlined) refers to a relationship between things

that --——-——- §

1) act independently of cach other

2) depend on cach other cqually

3) will work only in each other’s presence
4) are naturally forced to act together

PASSAGE 2:

A pedestrian crossing {GB) or crosswalk (US} is a place designated [or pedesirians o
cross aroad. street or avenue. The term ‘pedestrian crossing’ is also used in some
internaticnal treaties that pertain to road traffic and road signs, such as the Vienna
Convention on Road ‘Iraffic and the Vienna Convention on Road Signs and Signals.
Marked pedestrian crogsings are oflen found at inlerscetions, bult may also be at other
poinig on busy roads that would atherwise be oo unsale to cross withoul assistance
duc to vehicle nunbers, speed or road widths, They are also commeonly installed where
large numbers ol pedesirians are allempling Lo cross {such as in shopping areas) or
where vulnerable road users (such as school children} regularly cross. Rules govern
usage of the pedestrian crossings o ensure salcly; lor example, in some arcas, the
pedestrian must be more than hallway across the crosswalk belore the driver procecds.
In general, there are two Lypes ol intersections including signalized and unsignalised
intersections. Signalised pedestrian crossings clearly separate when each type of traftic
(pedestrians or road vehicles) can use the crossing. Unsignalised crossings generally
assist pedestrians, and usually priotitise pedestrians, depending on the locality. Pelican
crosswalks use signals to keep pedestrians together where they can be seen
by motorists, and where they can cross most salcly across the Jow of vehicular trallic,
whercas zecbra crossings are uncontrolled and more appropriate [or lower pedestrian
flows. What appears to be just pedestrian crossings can also be created largely as
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21-

22-

24-

a traffic calming technique, especially when combined with other features like
pedestrian priority. refuge islands, or raised surfaces.

It might be understovd from the passage that pedestrian crossings may not be built

1) in de-populated areas 2) inside shopping areas
3) for occasional passers-by 4) in speed-limit zones
According (o the passage, all of the following may make a road unsafe fo cross except

1) *wehicle speeds en i’ 2) *the width ol it
3) ‘its gradient” 4) *its number of vehicles’
We understand from the passage that ---—--—— '

1) zebra crossings cannot manage much vehicular traffic

2) pedesirians have 1o learn aboul trallic calming wechniques

3) pelican crossings do not suit lower pedesirian [ows

4) motorists usually ry 1o keep away Irom pedestrians

All of the following are correct according to the passage except that ---—--—-—-,
1) only road vehicles can use signalised pedestrian crossings

2) pedestrians are often given priotity in unsignalised crossings

3) pedestrians normally usce only hallthe arca ol a crosswalk

4) signalized and unsignalised intersections are ol two Lypes

The word ‘refuge island’ in the passage (underlined) refers to a --=-=--me- section of a
1) small / road 23 large / sidewalk  3) large / road 4) small / sidewalk
PASSAGE 3:

The new town movement refers to towns that were built in the UK after World War
Il and that have been purposefully planned, developed and built as a remedy to
overcrowding and congestion in some instances, and to scattered ad hoc settlements in
others. 'The main reason for it was to decongest larger industrialized cities, rehousing
people in [reshly buill, new and [ully plannced towns that were completely sell-
sutficient and provided for the community. In 1918, writing at a time when nineteenth
century sanitary advances had revealed how badly off people in urban environments
were and, owing to pioneers such as ’atrick (eddes, the relationship between social
issues and town planning was slowlv being realised, Frederick Osborn refers to urban
problems collectively as the “urbun discasce’. The urban discase, a by-product ol
the industrial revelution. was brought on by a vicious cycle whereby industry chose to
set up near population bases to ensure labour demands could be met which in turn
attracted rural migrants seeking work to move into the city prompting further industry
and so on. Lhis resulted in greater pollution n the city, higher populations, and denser
living condilions. Morcover, rural arcas declining rapidly duc 10 logs of population
were lell o decay. Turthermore, there were no powers in place (o stop prosperous
[amilics moving Lo open spaces or lrom industry growing in the cenires. EFringe growth
was vigorous and existing centres were left to deteriorate. Accordingly, those who
moved to new fringe suburbs to escape the congestion were in fact bolstering the very
process that caused them to move away.
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26-

27-

28-

29-

The passage points to the fact that -—--—-—--,

1) further industry in small cities causes more congestion

2) there is little congestion in smaller industrial UK towns

3) people were rehoused in new unils in industrialized citics

4) new towns helped reduce population in industrial towns
According to the passage, -—-—--—---.

1) families in the suburbs live in detericrating conditions

2) UK had scattered ad-hoc settlements after World War II

3) post-World-War 11 in the UK were purposefully planned

4) most urban people lived in unsanitary conditions in 1918

It may be understood from the passage that ----—----—-—-,

1) town planning had largely ignored social issues in the 19" ¢.
2) ‘urban disease’ was largely a twentieth century phenomenon
3) new towns managed to overcome “congestion’ in most cases
4) there were many completely self-sufficient towns m the UK

The word *This’ in the passage (underlined) best refers to -—---—-—-- i

1) *rural migrants’ 2} *labour demand’
3) “vicious circle’ 4) *greater pollution’

The word *fringe’ in the passage (underlined) is elosest to -——-—-—-- ;

1) “field’ 2) *housing’ 3) “border”

4) ~factory’
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